b Vb2 —4 .
p= Y7~ (az® + bx + ¢ = 0)

2a
n ik
U-v= Zuivi = ||@|| ||?]] cos(cx) UXVT=| uy uy us
=1 U1 V2 v3
— —
[u x (AP)]] i - (AP
d(Py,l) = —————=21 (P, T) = ——=~
’ [l ’ Il
x | cosx | sinx
x| V3 1
6 2 2
s 1 1
4 V2 V2
s 1 V3
3 2 2
. 9 9 sinx 1
sin“x +cos“xr =1 tanx = otz =
cosx tan x
: . ™ A
sinz = —sin(—xz) = cos (5 — 3:) cosz = cos(—z) = sin (5 - x)
sin2z = 2sinz cosz cos2x = cos®’z —sin’x = 2cosz —1=1— 2sin’

sin(x + ) = sinx cos y + cos z sin y cos(x + y) = cosx cosy — sinxsiny

. L, & e 1, e _ sinhz __ coshz
sinhz = 5(6 — e coshz = 2(e +e™ %) tanhx = cosh cothz = P
fz), _ F(@)g(x) - ¢'(z)f(2) / /

D = D(f(x)g(x)) = f'(2)g(x) + f(2)g'(z
(g(x)) COE (F(x)g(x)) = f'(x)g( (z)g'(x)

Dig? = pgP— Dsinz = cosx Dcosz = —sinzx Dtanx:—z—:l—f—tanzx

cos? x
1 1
De® = ¢ Da” =a"1 D1 == D1 = —
e e a” =a"Ina(a > 0) n|z| - og, || :Elna(a>0’a7é 1)
Darc sir : D ! Darcta !
TCsine = ———— ArCCosS L = ——— TCtanr =
e -z e

(f—l)l(yo) = f/(io), missé yo = f(xg)

pntl 1
/x"d.ﬂ::x +C (n+#-1) /—dx:ln|x|+C /tanxdx:—ln[cosm|—!—0
n+1 & ,

/ i C si +C day arc tanx + C
—=ar Sin = arc n.xr
V1—2z2 1+ a2

/f'(x)[f(x:)]" dz = L)t +C (n # —1) / ]}l((;)) dz = In|f(x)|+C /f'(x) ef@ 4z = @ 40

n+1
b b
A= [ir@las v —r ()

Q(z) = (z—z)k ... (x — z)fr (22 4+ 1z + AL (@2 + cox + dg)t;
P(L) N Al,l Al,kl Ar,l Ar,kr
Qlx) z—x; ey (x — z1)k +"'+az—x,‘ e (x — zp)kr

Bl,ll' + 01!1 BLllZL" + Cl,ll

{IJ2+(11.TI+d1 (TZ + leBerl)l‘

Bs,lx + Cs.l Bs,lbx =+ Cs,ls

2 tesx+d, T (22 + cor + dy)be



